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QUESTION 1

A customer wants to move from an IBM Power 740 to an IBM Power S824. The 740 contains: 

(4)

 disks in the CEC 

(10)

 disks in a FC #5802 (I/O drawer with disks) 

(12)disks in a EXP12S 

(24)

 disks in a EXP24S How many disks can be reused with the S824\\'? How many disks can be reused with the S824\\'? 

A. 

14 

B. 

38 

C. 

28 

D. 

24 

Correct Answer: D 

 

QUESTION 2

A company wants to consolidate six existing AIX workloads onto a single POWER8 server with six LPARs. Which server
option will satisfy the requirement? 

A. S824 with PowerKVM 

B. S822L with PowerVM 

C. S822 with PowerVM Express D. S822 with an HMC 

Correct Answer: D 

 

QUESTION 3

C9010-251 Study Guide | C9010-251 Exam Questions | C9010-251 Braindumps                                2 / 3

https://www.passapply.com/c9010-251.html
https://www.passapply.com/c9010-251.html
https://www.passapply.com/c9010-251.html


https://www.passapply.com/c9010-251.html
2024 Latest passapply C9010-251 PDF and VCE dumps Download

A customer would like build a two node active-active cluster of two 4-core AIX LPARs. The two nodes of the cluster are
connected to an IBM SAN separated by 75 miles (120 Kilometers) and an SVC at each location. 

What is the total number of licenses that are required for this configuration? 

A. PowerHA Standard Edition - (8) licenses 

B. PowerHA Enterprise Edition - (4) licenses 

C. PowerHA Enterprise Edition - (8) licenses 

D. PowerHA Standard Edition - (4) licenses 

Correct Answer: B 

 

QUESTION 4

What virtualization management solution will allow a customer to implement Ubuntu, Red Hat and SUSE distributions on
POWERS scale-out servers? 

A. Power KVM 

B. Power VC 

C. Power VM 

D. Linux on Power (LoP) 

Correct Answer: A 

 

QUESTION 5

The shared storage pool (SSP) was established in Cluster Aware AIX (CAA) Which of the following can provide the kind
of high-value features ? 

A. client logical partition memory thin provisioning (Thin provisioning). 

B. Zero configuration operations to implement NPIV storage. 

C. throughout the cluster VIO server synchronization hard name. 

D. Logical partitions automatic failover between Power Systems servers. 

Correct Answer: A 
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